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pro
use

var

BEG

gram DLstSeq;
s LstSeqg;

Lista : Lista Sequencial;
Item : Tipo Item;
Ok : boolean;

IN
Inicializar(Lista);
Item.Chave := 1;
Item.Dado := 'A';

if Inserir(Item, Lista) then
writeln('Inseriu 1");

Item.Chave := 2;
Item.Dado := 'B';
Inserir (Item, Lista);

writeln ('Tamanho:', Tamanho (Lista));

writeln('Cheia:', Cheia(Lista)):;
writeln('Vazia:', Vazia(Lista)):;

Item.Dado := 'C';
if Alterar(Item, Lista) then
writeln('Alterou 2'");

Obter (2, Lista, Item, Ok);
if Ok then
writeln('Chave:', Item.Chave,

if Remover (2, Lista) then
writeln ('Removeu - Tamanho =

END.

)

)
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Dado:', Item.Dado);

Tamanho (Lista)) ;



